uit crop 18

T
and

1 Which of the following f
susceptible for growing unde
sodic soil?

(A) Ber

(B) Bael

(C) Amla

(D) Méngo

(E) Question not attempted

s
¥ o & fow g &7 :
A) =

(B)

(C) sifamT

(D) o

(E) orgaia wed

Which of the following is an example of
complex fertilizer?

(A) Urea

(B) MOP

(C) DAP

(D) SSP

(E) Question not attempted

Prer & it oo @ SR AT ¥
(A) Then

(B) Mop

(C) DAP

(D) ssp

(B) ogafa wed

Y 77AGSP-2

Who is the Originator of Bishno;

Sampradaay?
(A) jambheshwar Ji

(B) Haridas

(C) Surat Gopal

(D) Mahav Manohar Ji

(E)

Question not attempted

S ﬁﬁwﬁgﬁqﬁﬁﬁ%w%m%?
(A) FEgETl

In which of the following fields, is the
‘Sunder Kanti Joshi’ Award given in

Rajasthan?

- (A) Literature

(B) Women’s Cricket
(C) Social work
(D) Kabaddi
| (E) Question ‘n'ot attempted
T & gy F g Wi A JE
fear e 42
A) witwm
B)  wfewn gz
© wwifo ard
D) wag
E) e we



it's Who among the following is Sahityg 7
'-" Akademy Yuva Puraskar Winner — 2023 i '
Rajasthani language?

[n which of the following Shecits s the fat
content in milk high?

(A) Buffalo
(A) Kiran Gaurav

1 (B) Cow
?‘ 3 (B) Nlranjan‘Hansda © " Goat
Ei‘ : (C) Chander Bhan Khayal (D) Camel
r (D) Devilal VMahiya S% (E) Question not attempted
:, ‘ (E) Question not att?épted ) ‘ fre ¥ A A 8 gefy %% ¥ weg 997 9
B i 9
‘; Frafafed § ¥ feed, (e oo ¥, SRk e &7 (o)}
: ) - : )
| HH A TR — 2023 vt Tepan ? A) 2
o P~ : Q
(&) feem g (® ™ ~
©) = ' % i (D) ¥
(D) e AT gf; (B) oTqanad wew %
(E) ofgafa ue (o) %
: ' E | 8 Silking is the reproductiye stage that may
; g H be observed in the folloWihg crops.
£ 6 is a bacterial disease. | ™
" - (A) Cotton [
(A) Hemorrhagic septicarmia
' o g N (B) Maize
(B) Milk fever § " (O Rice o
(C) Ranikhet dlseasem i/ (D) Wheat g
(D) Foot and mouth @sease (E) Question not attemgj"t'b d
(E) Question not att%rgpted : T @ o s AR wqd
T SHary] T ¥ § @ W wwa ) E
(A) <EErdRi st ) (A)  wuwm
(B) fires WaX (Fw %) - (B) W
© whda O ©) o,
; ' - s o))
(D) e T= Y ﬁﬂgtmm ) D) ™M
(E) ogaf@we D ) oo we S
g
[
i

§ v 77AGSP-2 3 3



~g

: 11 Which disease is trangpy; _
9  Match List I with List Il (Another tted by g, 9
) ist 11 ikhet disea
ListT®iver) LU e (A) Rani se
name ,
haogar River 1. Salt walef RIvED B) A mhrlax

aggar * .
a. Ghagg . Ganga of Wagad (C) Mastitis
b. Chambal River I R
c. Mahi River I11. Kamdhe.nu (D) Babesiosis

i River IV. Dead River ' '
d. Luni River pee (E) Question not attempteq
T 1 & Ty gl 1 & e ‘
W@ wam) g I (R ) ﬁ@eﬁ%maﬂﬁ%ﬁnmmmt?
b, dew T IL amg @ T
c. HR T 1L ey Wi (B) I
d. i T IV _ (C) iR
C.hoose the co'rrect answer from the options o) .
given below : BRI
e R g Rt F & w1 T T B (E) oruia wed
(A) aIl, b-IV, c-1, d-II '

(B) a-IV, b-II, c-I1, d-I
(©) a-lV, b, c-I1, d-IIT
(D) a1V, b-], c-III, d-11
(E)

12 Who built five Patwa Haveli in Jaislma

‘ (A) Rana Uday Singh
Question not attempted / HIART W

(B) Banne Singh

10 Who is known as the “Tiger Man of India’? (C) Rawal Veer Singh Dev
(A) Gokul Bhai Bhatt
: D) G hand
(B) Kishan Lal Sainj ( ur_nan Shan
(C) Kailash Sankhala (E)  Question not attempted
(D) Janki Lal | R S & i qear g TR
(E) Question not attempteq
ﬁ?&%m‘mﬂq'%m%mw%? : (A) T wegfis
(A) g i w : ®) = Ry
(B) Ty ama &% |
(C) Fwiy aiEay © a fie &
(E) ogaf@ ggy ‘ © o
\/ 77AGSP-2 4 lﬂ
‘A~~



13 Match List T with List Il
List I (Element)  List 11 (Symptoms)
a. Zn 1. Pahala blight of
Sugarcane
b. Fe II. Hidden Hunger
c. Mn 11, Interveinal chlorosig
d K IV, Khaira discase
T 1 %5 i g 11 @1 fraw Hifg
@ 1 [ T 1 (werer)
a. Zn I = ¥ GEeTR, Ty
b. Fe II. wo= gur
c.
d.
Choose the correct answ,
given below :
e fag g
(A)
(B) a-lI, b-1V, c-I, d-II
(©) a-lV, b, c-II, d-1II
(D) a-1V, b-I11, c-1, d-1I
(E) Question not attempted / rgaia wed
14  Mechanical analysis of soil texture is
based on :
(A) Stock’s law
(B) Beer’s law
(C) Ohm’s law
(D) Fourier’s law
(E)  Question not attempted
I TS B A s oz arenfia ¥
(A) ww & g '
B) 9ErT & fram
(C) oW @1 fram
(D) wif@t @t fray
(B) orgaf@ wew
Y 77AGSP-2

15 which of the following is an example of
weedicides,
[, Glyphosate
2. Monocrotophos
3. Allethrin
4,  Ziram
Choose the most appropriate answer from
the options give
(A) 1)<
ml\ﬂ 1 and 3 only

©)

(D) None of these

1, 2 and 3 only

(E) Question not attempted

= o sragerish &1 SeEer e A 37

. EwRe
2. drFmeRGE
3. udiim
4. fram

%%Wﬁw&%mmmm
T i

(A) & |

(B)  Faw 1 sl 3
(€) e 1, 2 sl 3
D) Y ¥ wf
(E)  argaft we




s of ceds from.

) es 0
16 Arrange the different class-ctribution stages.
its initial development 10 dis '
1. Nucleus seed
2. Breeder sced
3. Foundation seed
4, Certified seed
& & Ry it @ o refeeh foe 13(
R @ Stawenalt @@ w9 § | |
3
G
- Q)
2. YeEAN
r .
3. AR
4. vt 99
Choose the correct answer from the optlons
given belng
i fag Wﬂfﬁ'ﬁ&f 9 W R I BT
A) 1, 2% 4 B) 4,3,2,1
(C)13?“‘24 D) 2,1,3,4
(E) Questlon not attempted / srafg e
17 The prod\f"§ formed by the fennentatlon of
any greengplant material in the
air is known as ASpence 9f
]
(A) Haygy (B) Silage
[
(©) Slraysg., (D) Lint
(E) Question not attempted
w B et F fadt o g
Z @ BAR _— U.N % fyver
l_'() — %l ;
(A) gy (B
o ) Wi
© T D) fitz
() oyl e
["'»
\/ 77AGSP-2

18

19

il e

The size of the clay partice ;.

" (A) >2mm

(B) 0.2to2 mm

(C) 0.002 to 0.02 mm

(D) < 0.002 mm

(E) Question not attempteq

fereett frél & VI BT ST () o
— b

&y >2;

(B) 0.2 & 2frd

(© 0.002%0.02 frk

(D) < 0.002: St

(E) ﬂﬂﬁﬁﬁigﬁ’

‘Which of the following crop belongsm

Citrus species; .group?

1. Klnnowa}
2. Sweet Qrange
3.  Jack frmt

4. Mandaffitij
Choose the rost appropriate answer from
the options given below:

(A) 1 only (B) 1, 2 and 4 onl
© 3onlycsy, (D) 1,2,3and4
(E) Questlon not attempted

g‘:’ﬁ%aﬁ?@)mﬁ Piq diar whefrr & ¥
L .

R

Wt s

BIET

4 R e s s
ﬁqwﬁg;—«wammﬁ‘

(E) ¥ 3 © 1,238
b %EEW o " |



The Cole crops include

20
1.  Cauliflower
2. Cabbage
3. | Tomato
4.  Brinjal
Choose the most appropriate from the
options given below:
(A) 1 only
(B) 1 and 2 only
(C) 3 and 4 only
(D) 4 only
(E) Question not ‘attempted
Hd GEA § A A afaia ¥
1. g o '
2. garmsR
3. THRX
4. &M
A fig Ty freedt F ¥ @l quqa I Bl
qq BT
(A) oga 1
(B) % 1 st 2
(C) e 3 st 4
(D) &aw 4
(E) emaf@ e
V 77aGsp-2

21

22

@

Kesri Singh Barhath was born at which
plzncc?

(A) Udaipur
(B)
(€)
(D)
(E)
yal fie aes &1 w9 5y @ 9w gan?
EERE

SeagT

MEgA

HrearsT

- STFaRd 9eT

Jodhpur
Shahpura
Bhilwara

Question not attempted

(B)
©)
D)
()

Thompson seedless is one of the important
variety of :

(A)
(B)
(9)
(D)
(E)  Question not attempted

U Wt fre § ¥ Beeer w@ ea
WY & ?

Grape
Guava
Apple

Banana

(A)  ahR

(B)  smeg

(€) a3

(D)

(£)  srgafa wew



.- ECR T T 25 Match List I with Li'st 1I
23 ‘3@ Bl = e

' . B iver)
(A) STET ) : List 1 (Dams) - List I R
(B) i@ , : bal
(C) Pl & s a.  Bisalpur I. Cham
@) T8 ‘ b. Arwar o I Kothari
(E) ogaRy we : O
. : 0“ c. Jawahar Sagag; III. Banas
24 Cows prov@ milk.-Which is the only source ‘ o L
of animal ¢ in vegetarian diet. d. Meja E{E IV. Khari
1 vitar Ens ' - ;
2.  protein gt 1 & @i g 11 &1 P BHITY
3.  minerals ’ ' , '
' ' o : i 11 (5&)
L _ g
4 carbahydrates o -{fﬁ I () 6} T‘ﬁ 4
Choose théSmost appropriate answer from N . ;_2 - y
the option%given below - ‘ ISRER o
(A) 1 onfy? b e o I @l
(B) 2 only~ B ™
(©) 2and’3 only _ | c. v @R b L =
(D) 1 and 4 only :
(E) Question ot attempted - d. A o V. @
T ¥ UL e ¥, S e s H | @0
F1 FiRd &1 THAE wg AT 2 |  Choose the correctianswer from the options
1. foafe | - given below : g
2. e S
' b A T Ty foreedt 3 @ Sa) @t Tw
3. @bt £ e
4. @rdrEEse (A I, bV, ¢, d-T1
A A (B)  a-IIL, b-1V, eI, d-1
(A) Fad] b
(o) _ -
©) 2z EIE'('"_Z &t 3 (D) a-1v, b-1, C‘iﬁl, d-II
(D) Fae 1 &t 4 : 'i*:
(E) ergaft 957 (£)  Question not attempted / g LA

\/ 77AGSP-2 ‘ 8 . :



26 Prerfirfem & A g ! @) TEAE BT

| e of o ar e aeEe §
2. wmamu?rarmmmhﬂaém"r%}

3. & TR @ agya wT @ gl

w

4. % omw YT HE @ g
™

5. m%e@fw%’l

ﬁ%ﬁqwﬁwﬁ‘*ﬁéw@fmwm
Waﬁﬁq

(A) mlaﬁw
W

(B) &aw 2 a3
N
(O w29
(D) Faws.

- (E) auia 9

(0)}
\O
o)

What is the minifaum concentration of fruit

pulp/Juice in the@jieal squash?

%@tm&f@éag«m‘f%@/waﬁw
gz fopar widr & 7
(A) 10% o)
B) 15% g
M
- (C) 25% (]
o
(D) 50% [
[

(E)  Question not attempted / arafa 99T

28

@A)

Which in NOT true regarding 1row! Cholera?
L. It affects all classes of Fowl
2. Itis a contagious discasc

3. Affected show gasping,
coughing, qnu./mé and difficulty in
Y

birds

brt.utlnn;, 0
4, Itis cnuscd by Vitg;.

Gt
- Choose the most approptjate answer from

the options given below s

[
1 only
(B) 2 only
< 3 only %
- (D) 4 only Ct?}
(E) Question not atte@ted
Freffe & & 2 W T Fage B 3w
¥ oft & ¥ 7

1. e gl Fape & ql F GHITAd S 8|

2. wwﬁﬁn%lg

3. s el gl g ¥, i 2
Bﬁ'{ﬁﬁiﬂ@ﬁﬁf_ﬁsﬁﬁ%l

4. = Ry Er e E

%%qmﬁwaﬁﬁﬁm%mm

T HifTa:

(A) a1 b
(B) e 2 -
(©) w3 e
(D) e 4 ;:

(E)  argafa wew



50 Rennet is used for the preparation of Whlrch

30

Y/ 77AGSP-2

dairy product?

(A) Curd (B) Ghee
(C) Cheese (D) Cream
(E) Question not attempted

ﬁmﬁfﬁgawaaqaaﬁmaﬁm%ﬁn

T 1 IUE Rear wmar &7
A) @& (B) =@
©) wR (W) (D) ®™
(E) aﬁ,’ﬁﬁ—d 9T

Which element(s) are highly moblle in
plants.

4. K
Choose the most appropriate answer from
the options given below :

(A)
(B)
©

1 and 2 only

1,2 and 3 only

2 and 3 only

(D) 1,2 and 4 only

(E) Question not attempted

wre % B WA T e oy ¥ -
1. N

2. P

3. Ca

4, K

T fow o et ¥ ¥ wed ST T Al
T A

(A) @@a 1 &t 2

(B) a1, 2 o 3

(©) %aw 2 it 3

(D) e 1, 2 aix 4

(E) srqafta gsw

31

32

(E)

wlﬁmqwﬂllmﬁﬁﬁm:

1 T 11 '

a. O L 3=t

b. o™ T T

c. T . Jemet=a

d. Ty IV. HW&aR :

$r g g ket & ¥ T ST 6w zﬁﬁq
" (a) all, bV, ¢, d-I

@B) a-l, b1, c-IV, d-I

(C) a, bl cI, d-IV

(D) a-IV, b1, ¢, d-III

(E) orgared 97

Match List T with List 1I

~ List I (Temples-of List IT (Built By

Rajasthan) ‘Which Dynasty)

a. Achalgarh I. Mewar

b. Dilwara II. Gurjara - Pratihar

c. Eklingji III. Parmara

d. Mahavir Jain - IV. Chalukyas
Temple (Osian)

T & g gl 1 & Braw dif

T (TR F 4RR) T 1T (Few T

' TR T TR)

a. STaEe I o

b. fawerme II. TR - wRer

C. THiehTSh . TR

d. W S AR IV, =g
(afram)

- Choose the correct answer from the options
given below -

T R T et ¥ & e e e A
(A) a-II, b-II, ¢-1, d-IV
(B) a1, b-1V, c-1, d-II
©) .a-lv, b-111, c-I, d-II
(D) a-II, b-1V, c-1, d-III
Question not attempted / 3 e

|

4



3 Whois t%lle author of the book *JaisalmerKa | 35 jdentify the cattle breed, on the basis of the
Gundaraj'. breed characteristics given below.
(A) Surjamal Miser - Protruding broad and long forehead
(B) Viiavdan Detha-, = Rendulon fromwar% turned ears
0 - Colour is white Wit
(C) Gajanan vermaT; le h dark red or
PN chocolate-brown patch distributed all
(D) Sagarmal Gopa™ over the body.  © |
. = P ) o
(E) Question not aﬁémpted (A) Gir (B) l:Tharparkar
) = (C) Rathi (D) Malvi
SEEe =1 SIS Ta® ol 0a@® o 87 _ -
(E) Question not attempted
(A) Mo S ey $= Ry 7T = F @ %\z\:ﬂm o, Tt @
-~ . e 5
(B) TEsgsH ©l Gy Y (L\
M, — Y T gen ??lgt ai‘r{ T D
(C) -&== a4 e
—~ : - I WE TS gmﬁ?ﬁﬁ CaE|
(D) TFEE WAl s . .
' - - TR iE W ET@ srﬁ'( T S AT AT
(E) «gaia 99 T W T F ud fafa &1~
o (4) fr o))
o 5 )
JRATTHT
4 In catle. out of the total dry matter (feed) _ g
requirement of the ammal should © T -
be met by Rou_ha..es (fodder) and the restr D) : :;.E
by concentrates. -
o
e e oy : (E) omuf@ v
R ¥ el Iat $ pu gw "ee o, |
%1 g7 |1 9t (T) K w99 854
—rng—"%i?a‘ﬁﬂam%n 36 ‘W—Wm'wwgﬁ%_
! '” 3 ;,g:
(A) 1/4; 3/4 & (A T g -
{7)
. - B c:’
(B) 2/3; 1/3 = _ ®) w5 afsw dm o
~ (©) g & B
© 3414 o 9 [~
: ' (D)« ¥
(D) 1/3;2/3
. (B)  srgafa wew
(E) Question not attempted / Sand i

7 7acsp2 o



RY)

Ireigation seheduling deseribes =
1. How much water is to be given.
3 When is water needed to be grven.

3. Source of water

Choose the most appropriate answer from
the options given below :

(A)
(B) 2 only
()
(D)

1 only

1 and 2 only

2and 3

() Question not attempted

Riawg A fost & A Ret fremor 30 X2
I waw ¥ feae o 3 ¥

W W A W @ omavaEd w9 ¥
3w W

M Ry T faeedt ¥ ¥ v ovgm s @
RRE A1

(A) w1

(B)  &w 2

(€) Faw 1 ez 2

M) 1,2 eR 3

(E)  srqafta yem

1o

Tz Smaﬂﬂﬁﬁﬂ’mﬁmaﬁqm%?
(A) Freg

(B) geeg

(C) w=adm

(D) =g

(E) orgafia yg

\/ 77AGSP-2

Bizamrit Consists of
1. Cowdung
2. Urine
3. Lime
4.  Virgin Soil
Choose the most appropriate answer from?
the optxons given below:
(A) 1 and 2 only
(B) 1,2 and 3 only
(C) 1 only
(D) 1,2,3 and 4
(E) Question not attempted
e ¥ T ¥
. e
2. @
3. Tm
4. ST a7
:ﬁ;ﬁ;ﬁ? fowedt ¥ ¥ el Bngaa I @
(A) Faw 1 e 2
B) Faw 1, 2 st 3
(©) Faw
D) 1, 2,3 a3z 4
() ot o
12 ‘m 3

39

oy

s




:

[ 40 Match List I with List II

i R List I1 (Botanical name)
a. Rice . Triticum aestivum
b. Ground nut IL Gossypium hirsutum
c. Wheat III. Oryza sativa
d. Cotton IV. Arachis hypogaea
@Iésma‘a:cﬁ II &7 fira &ISQ
T 1 (v=) TN 1 (areferss )
a. agd I fefem w&am |
R T I rifEs %TQT*T
c. T VL s deEan
d. U IV. qif%E eraifem
Choose the correct éns-wer from the options
given below :
T feg g el F & 8 T 1 g AT
(A) a-1V, b-II, c-I, d-III
(B) a-IIl, b-1V, c-I, d-II
(©) a-II, b-l, c-1V, d-1I
(D) a-il, b-1, ¢-1V, d-I1I
(E) Questi(;n not attempted / argafia 947

7 77AGSP-2

13

41

42

(E) organa wed

‘Cactus’ is the plant that can be categorized
as a

(A)
(B)
(©€)
(D)
(E)
‘B’ (AMTEAT) NG By
T FhaT B

(A) ey

(B) wHEfg

(C) wERfhg

(D) wEvrREH

Hydrophyte
Mesophyte
Xerophyte
Halophyte

Question not attempted

__ ¥ oiipa e

)

ﬁw%ﬁgaﬁ@r K GEIGK aﬁmmﬁaﬁm

a%wa%ﬁq—
o as%;%gwasq@f%l
Am@méﬂm
o T g -
‘Bﬁefg'uﬁzﬁqmm‘l

2
3
4,
5.:.. TE T T

: ﬁﬁ%ﬁﬂqﬁm@rﬁ%ﬁ@gﬁwm

T AT

(A) e 1

®) T2
(©) w3 a4
D) ¥ 4airx 5
(E) GTjT—lﬁT-[ G99

,



43 Match List I with List II
List 1 List 11
a. Toxicitfof Al & Fe 1. Sodic Soil
W0
b. Amendggcnts with II. Saline Soil
gypsm@
¢. ECe >r4 ds/m II.  Acid Soil
d. High Calcium IV. Calcareous
Carbonate Soil
\Ue)
T 16 W g 1 % e ATy
™
o
S S w1
a. Al ur-Fe 9 L o€ g
[ELIESEI
b. Rrew He I i ga
(e
et
c. ECe >% ds/m I st ga
[q\
d. v= By wie IV, Sfermer 3o
Choose the correct answer from the options
given below :
(@)
%ﬁqmg}{wﬁiéaﬁwaﬂmﬁm:
)
(A)  a-lllg=b-11, c-1, d-1V
o
B)  a-llIb-L, I, d-1V
>
(C) a-1V, b, c-I1, d-111
(D) a-Il, b-111, c-1V, d-1
(E)  Question not attempted / ERGITG I
\/ 77AGSP-2

14

44

45

46

(©)

T8 faeew @1 T99 Hfwg)
‘SE-T BT HIE ARH eFT
(A) ®AS BT IAT T
(B) T& AH B
(©) mﬁﬁﬁaﬁiwwm
(D) Hemd &
(E) aﬁaﬁﬂ"mﬂ

rﬂ.

The orientatioh of long-axis of the cattle she
should be

(A) North-South (B) East-West
(©) NorthiEast (D) South-West
(E) Questmn not attempted

naﬁmasaﬁg&ﬁ@)a%w&r&wmw
W

(A) w—a’iﬁw
(©) w—‘ﬁ
(E) ogata wew

o)}

(B) d-uRam
(D) <Ror—ui=w

. L
Which of the following texts is NOT
composed hy}Maharana Kumbha?

(A) Sudha® ,Erabandh
(B) Sangeét*Ratnakar
Sangeie‘; Raj
Sangeet Saar

(D)

(E) Quesnon not attempted
Pratforfae & ’%3?5’17{
R Y ?t«f‘"*

(A)
(B)
©)
(D)
(E)

W TaT Heren G 3R

EI.HT ‘Sl‘é’ﬁ?



janion

48 Mycorrhizza is the svmbiotic assO¢

47 Match List I with List 11
& - between root system of higher plan®™
List I (Vegetable List II (Number of and
criop) chromosomes) :
(A) Fungi
a. Carrot ’ I. 24 -
— (B) Bacteria
b. Tomato II. 14
. (C) Nematodes
c. Comr’non onion III. 18 |
(D) Virus
IV. 16
=4 ' (E) Question not attempted
11 @1 foem g L _ ‘
e FI%HgA 9% NHl B g4 97 FL e
: s nte S8 tier 3
T 1 (aferdi #1 o) g 11 (oregei &1 He) gearal 599 21
a. T - I. 24 (A) ZE3
b. ZHRT 1. 14 (B) =g
c. EIHT &S I 18 _ ©) w=pH
d. "X IV. 16 (D) feaurg

i FFTNG 957
Choose the correct answer from the options (E) =3

given below :

i el T e i 49 € 999 @1 999 DiSq|

(A)  a-, b-1I, c-III, d-IV (A) & T =1 T3% 31
(B) a-I, b-III, ¢-II, d-IV B) I oo @ wET 3

(© all, b-II, c-IV, d-I (©) &% 8 wew = w & A
(D) @I, b, c-IV, d-1I (D) 3w wde sy & ana

(E)  Question not attempted / AR 99 (E) ergara wee

77AGSP-2 15 PTO.
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51

(A

paraquat can be categorized into
herbicide.
(A) Replacement
(B) Selective
(C) Whole body
(D) Contracted
o)}
(E) Question not attempted

ﬁmﬁzaﬁg SIS & afaid i
ﬁtmmaﬁr%

) s
(B) a0 (I9ATHD)
(C) warfh

(D) Ty
B oy ve
<

o
Which o@e following is the most-important
constituent for jelly making?

Sugar
(B) Acid®
©)
D)
(E)

'\?ﬁﬁaﬂ'ﬁ mﬁwﬁﬁmﬁm@m
T E?

® by,

(B) m((:
O

(C) &&m ;
(D) aa—ﬁuazs

E) eﬂa%a

Pectm,
Bio-, Lgulators
Quer?on not attempted

\v4 77AGSP-2
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Match List I with List I

List I List II

a. Cooling of I.  135-150°C for
milk Y 1-4 seconds

b. LTLT O II. 72°C for
Pasteﬁrizatio?-) ' 15 seconds

c. HTST S L 4-5°C
Pasteurizatiog

d. VHT IV. 63°C for
Pasteurization 30 minutes

gar [ & | Qéﬁ% &1 firm siferg

T 1 % T I

a. JY & IS @T?D L 135-150°C,

‘ ~ 1-4 ¥vs % frg

b. @8 H g A II. 72°C, 15 Yds
MERERT % fog

c. T uw é’rg II. 4-5°C
RICERIET| g

d T Eff IV. 63°C, 30 fire
Tt | ¥ fg

- Choose the correct answer from the options

given below : o))

‘ﬂ%ﬁﬁmﬁzﬁm‘fg%a@rwmwm

() Il b-IV,(lL, d-1

(B) a-, b-I1, CELY, d-III

(©) a1V, b-lIL,lexl, d-I

(D) a-Il, b-I1I, c-1, d-IV

(E)  Question not attempted / ergaid L
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35

A

2

vq

Which of the following places in Ra_}as‘tlmn
presents the oldest evidence of animal

husbandry?
( A) Bagor
(C) Jaipur

(B) Kalibanga
(D) Alwar

(E) Question not attempted

Preferfaa ¥ & @ A1 UM Tored H g -9
(A) awio ®)

©) ?’1‘1{3&! (D) o®ER

(E) ogafa wel
{‘1.:‘

For which of the following crops, is the
yellow vein mosaic disease, devastating?

(A) Otign (B) " Okra

(C) Tomato (D) Brinjal
(Y}

(E) Question not attempted

Prer % & for e % forg, i forr s <,

gofaar femmeret gar ¥ ?

A) w= B) f

© = (D) &

E) wgeha we |
28]

Which of the following is considered as the
rich source of riboflavin?

(A) Ber- (B) Bael

(©) Apple (D) Citrus

(E) Question not attempted

i o R T e ——
B L ST 7
@A) w'

©) o

(E) Hzﬁlﬁ'cr LR

(B) ==
(D) @& ww/fig du

V 77AGsp-o
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17

-assessment t(}é “identify

In which garden of Jodhpur, the
Heroes’, situated?

‘Hall of

(A) Ramniwas garden
(B) Mandore garden
(C) Vidhyadhar garden
(D) Niwas garden

. N
(E)  Question not attempted
Wmaﬂa:*;sﬁagrasﬁmmﬁﬁaa%?
.Y -y
(A) Trcrﬁamgﬁw

N
(B) WER WM.
(C) - fagamr = m
@) Few g,
L
@) srgef i
™
D
Ferric chlorideZtest is carried out for rapid

damage of
legume seeds.

"(A) Chemical

(B) Physiological
(©) Mechanigy
(D) Biologic:éiz
- (E) Question‘niot attempted
T A A afR @ AR o
B % g B s Theer e s 3
(A antE
(B) srirhrmEs
(© wfm )
©) O
(B) orgafa e



o From the following who is associated with | 60  Which one of the following pairs does N(
" Jaipur Gharana of Music? match correctly?
X X (A) Sambhar Lake — Jaipur
(A1) Bhimsen Josht (B) Rajsamand lake — Udaipur
(B) Jasm) (C) Navlakha Lake — Bikaner
(©) Giga Devi (D) Balsamand lake — Jodhpur
(D) Malikarjun Mansur : (E) Question not attempted
(E) Question not attempted frafiea & ¥ B @ 3w gafa @, %?
AR S Y S o S T T A (A) T AW — T
i &3 (B) T R Wid — Sa@gR
R L (C) “aw@l A — SHHT
SR (D) TR Wa — SR
B) S = (E) oTgaia 99
0 e 61 Match List I with List II
(D) =F=ET AR List I (Fertilizer)  List IT (Percenta
® ISSw TS of Nitrogen)
a. Urea. I. 0%N
b. Sodium Nitrate II. 46% N
N FEEET S D SR S O WEER e € - & nl-16-12 L. 16% N
1 e \d. Diammonium IV. 18% N
Phosphate
2 = T F g 1 & Fee
ER ! ™1 (=) T 11 (Frgdee @
4. =z % )
a. gRar . 0%N
5. =g b. Wizaw [ II. 46% N
R g e — . 0-16-12 L 16% N
5T BT - d. sEymitEE wise IV, 18% N
E _ Choose the correct answer from the opti
RA) ) given below :
B) =2 R R R ¥ e e A
©) W 5 (A) a1, b, el d-1V
(B) a-ll, b-1V, c-111, d-I
@) F=m 43S (©)  a-IV, belll, eI, d-1
(E) =993 59 (D) a-1V, b-11, c-I, d-III
) (E) " Question not attempted / SRS £

WV 77AGSP-2
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2 Match List I with List II 63 Which of the following is NOT true for
guava.
List ] i 1 Bending
0. Beetal gy . Buffalo 2. Wilting )
pve o
b. Nagauxiiz; II. Sheep 3. Crop regulation
>
= rting O
¢. Nili-rav Il Cow g4 Skirting S
[‘: Choose the correét answer from the options
d. Merino IV. Goat given below :
gdl 1 & qrg gdr 11 &1 fram #ifag (A) lonly .
($)) Ve
0 ’ (B) 3 only o0
1 o T 1 o
™ (C) 4 only -
M (D) 2 and 3 only
b, =mirdy . 3 : (E) Question not attempted
c. el @ . ores % Rrg P & & @ wd W 37
) ‘ _ o
d. & O IV. @&l AL T -
o =2
Choose the ‘Carrect answer from the options 3 o,
given belo@ 3. s Frame Eh
[~ ‘
Ry g e § @ @ o9 @1 Tgw S 4. @ S
i Tt &1 TqT HIAT:
(A) alll, b, eI, d-IV g jf} e I
& @) ¥l O
(B) -1, bily, 11, d-1iI A ™
o B) ¥aw3 5
(©) a1V, baIl, c-I, d-1I -
@ © Fwa4 -
(D) a-l, b-1V, c-III, d-]
(D) Faw 2 et 3
; (E)  Question not attempted / agafa 9 | (B)  sryafa g

'V 77AGsp-2 | 195 -




64

65

!

q Rrgwt o ved g L

b, Rl FEd e 1L
o, W wen ¥ Rur o 1,
d. S e Al e w
1 R T Rroed) N QW T e B

(A\)
(B)
©
(D)
(E)

gelt | % N g 1w i

g 1
NIRIRIN DA
aifi
NI
AR

a-=1, b-11, ¢-111, d-1\2
a-11, b1l e-1V. d-M
a-ll1, b-1, ¢-1l, d-1V
a-l11, b-Il, ¢-1, d-1V
FARE W

Mateh List 1 with List 11
List 1 (Vegetable

List 11 (Varicties)

crops)

a. Carrot L.

b. Cauliflower IL.
. Okra 1L

d. Garlic

T 1
1

a. X 1.

b. Gl 1.

Choose the correct answer from the options

given

Arka Anamika
Bhima purple
Pusa Asita

IV. Pusa Meghna

¥ wy g 11 & fam Ay

(afemal @ wew) T 1 ()

T ST
W ade (d7H)
L. @ st

IV. g dge

below :

413 o e el 3 4 A T e R

(A)
(B)
(©)
(D)
(E)

R

a-11L, b-1V, ¢-I, d-1I
a-111, b-I1, c-1V, d-1
a-1, b-1l, ¢-lll, d-1V
a-IV, b-I, c-I1, d-III

Question not attempted / arqafig 8T

\/ 77AGSP-2
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67

T —

qd
| T 1l

S . wudE

b, W I J&3

e, s 1IN L

d. PRI V. e
:ﬁaf&qwﬂm\’ffﬁwmwwaﬁm

| % a1l o e Wi

(A) a1, b-I1L eIV, d-R

U}.)/_u-ll. b-1, c-1V, d-llI

©)

a1 b-1V, c-1, d-11I

D) @IV, bel, e-lil, d-117"

(B)  emaf wed

Feed cost accounts to % of the cost 0
milk production.

T B T g T A b % T

(A) 40-50
(B) 60-70
(C) 75-85

(D) 90-95

(E)

- Qi
Question not attempted / arj’ﬂﬁﬂ !

V
A



68 Match List [ with List Il 69 Armange the growth stages of majze crop,

1.  Planting

List I (Crop) List 11 (Root sto‘ck) 3 Silking
a. Mango I.  Ziziphus 3.  Tasseling
. 4. Physiological Maturity
nummularia
Choose the correct answer from the options
b. Grapes II. Rough lemon given below :
A 1,234 B) 3, 1.2
¢. Sweet Orange III. 110 R © 1324 O 2. 1.3 4
d. Ber IV. Olour (E) Question not attempted
~ Tl B BEA W BN A gRE W araenad @
T 1% gy g 1 &1 fraw it T w9 X ARy &P
@l () L
2. fofw

a, L fafawe =i 3. e T
‘ 4,  RRIwaeTs giqaEEdn

b. SR I, & iy

- e Ry g et ¥ ¥ WE AR @1 9aT S
c. ST Ea| III. 110 R A) 1.2.3.4 B 312 4
d ¥« IV. 3f|R © 1,324 (D) 2,1,3,4

(E) orgaRa wew

Choose the correct answer from the options

given. below s 70  Which of the following is NOT written by

Ambika Dutt Vyas?
~(A) Bihari Bihar (B) Pavan Pachasa
(A) a-l, b-II, c-III, d-IVK_ (C) Lalita (D) Vijaypal Raso
(E)  Question not attempted

T feg Ty foeedt § G ST w1 999 St

(B) a-IV, b-III, c-II, d-I

o Preafofes & ¥« afera = zrr fifsa
©) a-l, b-l, c-IV, d-1I}- TE ¥ ?
D) a1, b-I, c-II, d-IV @) Ferd - fee B) v - v
~ (©) (D) o — &
(E) Question not attempted / agafia wet | (B)  arqafka we

Y 77AGsp-2 | A ‘



72

Which disease can be prevented by
vaccination?

A)
B)
©)

(D)

(E)
ST F B A AT 6 AGAH B W
gl T °
(A)
B)
©
D)
(E)

Milk fever
Black quarters
Mastitis
Bloat

o

Questioni;hfot attempted

bt
g
X% TR
=t ()
g KTS‘T

weg oy

Which of the followmg crops, has the
maximum water requirement?

(A) Wheat
®B)
©)
D)
(E)
frafiftaa & ¥ 69 BEa & I@ B
@ W W

(B) €A

Sorghum
Rice

i
{ a
o
Maize

Questiontnot attempted

(C) w[mEd

L
£
AP
l-’.‘l
{
!
I

(D) =T

(E) orgaid 9ed

\/ 77AGSP-2
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74

22

Milking should be completed within
minutes.

que e T § S o e
(A) 6-7
Xl N
|) 9-10 o
(C) 12-14 N
™
(D) 15-16 & .
(E) Question not at(tﬁ mpted / aﬂﬁﬁa o
t”‘ :

Match List I with List 11

List I (Fruit L1§t II (Commercial

crop) propag‘ltlon method)

a. Mango I:.::,; Air layering &
g budding

b. Grapes I Side grafting

c. Papaya I‘I? Seeds

d. Guava IV. Hardwood cutting

T 1% g g 11 &1 B @iy

T (i ) G 1N (e S

a. _M Im REGE IR CT

b. s :3 e e AT

c. wdra M <

d. orTeR IV. 35 &8 &

Choose the correct answer from the opti®*
given below : \g

%mmﬁww@amwmm
(A) a-l, b1, c-III, d I\Y
(B) a-III, b-II, c-I,f’d-IV
o
(€) a-l, b-l, c-II1, d-1\§y
(D) a-I1, b-lV, c-11L, -
(E)  Question not attempted / SRS :



DL & e e

'

If you see a dairy cow which has calved 36
hours ago and is characterized by (a) rise in
temperature and excitement, (b) unsteady
movement and stiffness of gait. (¢) sitting
with its head turned backward and looking
at its abdomen. Which among the following
measures will you adopt?

1 Addition of calcium in the ration

2. Give calcium borogluconate injection

3 Inflate each quarter of udder with air,
massaging with tied teats

4. Cows should be partially milked during

the 1t three days after calving

Choose the most appropriate answer from
the options given below :

(A) Only 1

(B) Only 1 and 3

(C) Only 2,3 and 4

(D) Only 1, 2 and 4

(E) Question not attempted

Tz ¥ fesr 30 T Tawst v 36 €T e
21 537 & 3 99 T = (a) IO ) SueET
=S g2 %, (b) TR 3R aIRax 9@ %, (c) g
Wmﬁaﬁtqﬁmmﬁaﬁ%@ﬁ@éﬁ
T, T S d B Y SU e ?

1. TsH § S &1 9

2. S ERrgEe G|

3. “Wammﬁwameﬁw
49 ¥T 99E & WY Wy s

4,

Wﬁ?amiﬁwﬁw g & 3igE:
2ET FHEA
e
(A) Fgw 1

(B) Faw 1 afr 3

©) %=w 2,3 atr 4

D) Faw 1,2 aix 4

" (E)  sgeia g

V 77AGSP-2
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77

76 Qg wr 33'“371@‘3‘&3”(’1'81%?

(A) =l ga s
(B) wiéim &rn
(C) 3@ 9*z we

(D) gy B
(BE) gt weA

The date palm is commercially propagated
through :

(A) Budding

(B) Grafting

(C) Offshoots N
(D) Runners

(E) Question not attempted

e WX o EeR F T @ B § Rees
T waffa fear st &7

A) e

(B) ey

(C) wymand

(D)  argwm/amfogErd

(E)  sgufa wed



78

which of the following area produces
coriander at large scale?

(A) Kota
(B) Bikaner
©)
(D) WO
o)
(E) Question not attempted

Pt ¥ & @ 414w ub B A T
W SARA B & ¢

81

] odl‘lpur R
Jaipur

@) @@ i
(B) drr e
(©) whuR o)
©® W o
E) sl 7
79  When did the battle of Udaipur take place?
waqX H @ (39) B9 g ?
(A) 1670 2
(B) 1580 o
(C) 1680 p
(D) 1760 =
(E) Question not ?{tempted [ At we
80 In India during 2020-21 the per capita
availability of milk was _ ml,
A o 2020-21 ﬁqﬁiwﬁﬁ?@a‘hwﬁ&m
e A &*
(A) 111 o
B) 222 ey
(C) 333 I
(D) 444
(E)  Question not attempted / SRR g
V 77 AGSP-2

R __

t

When was the First Forest Policy amlou ‘

in Rajasthan? oy 83
e ¥ 9UE AT AR a?rti‘rqnnmg? s
(A) 2008
(B) 2010 %
© 2012 G |
(D) 2014 -4 |
(E) Question not atfgnpted / aj‘amqai

=~
Arrange the stages o; Rice crop in Coﬂer:
order.
1. Tillering & | 84

2.  Panicle initiati%?

®3)

3.  Transplanting ¢}
P g

4.  Seeding o

i,

%

Choose the correct answer from the optior
given below :

(A) 4,1,2,3 (B) 2,3, 4,1
©C) 2,4,3,1 2@) 4,3,1,2
(E) Question not aﬁré;mpted

ARIT Y E?

1 &« smed o

2 Waﬁﬁﬁ

3. et o

4, 4w -
%Wwﬁmﬁﬁ@mwmm
(A) 4,1,2,3 QB) 2,3, 41
©) 2,4,3,1 (D) 4,3,1,2

(E) srat@ e



g3 el o wd’ et wh ol P A @

84

gy ar ¥ 7
(A) Faw a@ & G

[}

(B) &ae HH ST
o))

(C) ae S W
)

(D) ¥ @ wT
c*
() orgaRaue

[h

Which of thc following crops, requires
permission from narcotics department for its

cultivation m‘Rajasthan?
(18] |
(A) Eugenii(l;'w'omatt‘cum

et

(B) Papavefz‘::sonmifer'unz F
(C) Piper nigrum
(D) Curcunin longa
O
(E) Quest:bﬁ‘ not attempted

TR ¥, ﬁwﬁﬁaﬁ#tﬁ‘rwm%m
W&wﬁlﬁmﬁaﬁﬂﬁréﬁaﬁaﬂmﬂaﬁr
T &7 .

(A)  gofifrar geidResy
Y
(B) d9ar @%ﬁﬂ;—m
©) vy gﬂsz'zm
o
(D) mmf{g?vn
)  ergafa wem

85

25

Arrange the types of water erosion based on
their impact, in ascending order.

1. Rill erosion
2. Sheet erosion
3. Gully erosion

£

¥
Choose the correct answer from the options

given below : :;
A) 1,23 é
® 2,13 ©
© 3,1,2

D) 3,2,1 W

P

S 3

E) Question%ﬁét attempted

" *‘&

W—W%Wﬁaﬁmgw%maﬁq
¥ SIER AR By |

1. & st
£
2. g GW;T:W
N
&
3. SrEmfdeTsTIRE
-
M R w1 Foreet ¥ & W S A e v -
(A 1,2,3
(B) 2,1,3 h
O
© 3,1,2 i;
<
E—:-;\



86 Match List I with List 11

List I (Animals) List 11 (Breed)

a. Goat I. Pugal

b. Sheep II.  Gomath
~ ¢c. Cow - III. Sirohi
“- d. Camel IV. Malvi

T 1 % wa g 1L @ B Hifg

T 1 () T 11 ()
a. & L. g™
b. ©S . . =g
c. A I fae
d 32 IV. =@t

.~ Choose the correct answer from the options

given below :
7 vy o T feraedl H @ WA TR b1 A BTG

(A) a-IV, b-l, c-IIL, d-Jlr_

(B) a-Il, b-I, c-1V, d-1I

(C) a-lIl, b-II, c-l, d-IV(j\'“ 8

(D) a-lll, b-I, c-1I, d-1V

(E)  Question not attempted / STt 99

\/ 77AGSP-2
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Match List I with List 11 ‘

List I List I | t =
a. Foot and I. Extension of one leg
mouth forward and the
disease other backward
b. Mastitis II. Animal walks in circle
c. Marek’s 111. Blisters in the mouth
disease
d. Ketosis IV. Hot, Swollen,
painful udder
g 1% @ g 1 B HIAY
T 1 = 10
a. TEE WA 1. T 20T 1 STEAT fER
o) qEd w avEEd

b. wiefm qm 1L SRET W T E
T ®

c. @ w om I 7@ ¥ B

d. oAk V. T, g9, © & o

Choose the correct answer from the options
given below :

A Ry e Rreedl ¥ { WO IR B w9 HAG
(A) a-1, b-l11, c-11, d-1V

(B) a-lIl, b1V, I, d-1§-

(C) a1, b1, c-1V, d-111

(D) a1V, b-11, c-l11, d-1

(E)  Question not attempted / Srgand b

g



88 gdl [ & @rg gl 11 &1 foema g ¢

89

o 1 (71=) T 11 (7o)

a. gIew I aged wm

b. M II.  oremdwE qad
C. T . z== a9

d. & fg‘ IV. ggdifs a0
ﬁaﬁqmﬁﬁﬁﬁﬁﬁwmwm

(A)  a, b-I‘fz‘j;.;c-IV, d-III
(B) al, b-g,:’c-lv, d-1I1
(C) a-II, b1V, c-I, d-III
(D) a-IV, b-II, c-I, d-III

"
(E) Gﬂﬁﬂﬁ?ﬁfﬁ

)

)

( 3

Which City" of Rajasthan is called the
‘Menhdi Nagrl"’

(A) Jaisalmer

(B) Jaipur o)

(C) Sojat ::ij:

) nt

(E) Questi(ii? not attempted

TR o 6 et “Aedt T e & 7
(A) ey
(B)  wagx
©)  Hre

®) e f{{i
B Wﬁ‘cr A

LD
()

v 7TAGSP.,

920

27

Match List I with List II

List I List 11
a. ' Dipping L. Disinfeetanyy
b. Drenching el Vaccines
O
c. Spraying ?I!l Internal parasieq

€
CIV. External parasites

Wl%muwllféftﬁwmmm
T 1
a. fefdm (me) o

d. Injection

1“'\ T I
KR G
b. e (i) ffffi'l..

I orfaftes ol

1V. ATE Tty

v"

Choose the correct aqswer from the options

given below - v}
3

‘“ﬁ%ﬁf@qﬁwﬁrﬁaﬁmaﬁmaﬂ&m

d. g

(A) a-Il, b-1v, c-II, d-I

(B)  a-L, b-II, c-IVd-1II
Yo

(© aL, b, c-mé?-*&}l-lv

s

(E)

()
a-1V, b-IllI, c-I;*d-II
r-«.,

Question not rz{ftempted / S w9



91 Match List I with List II
List 1 List 11
a. Alcohol Test L [mpuritics and dirt
in milk
b. COB Test II. Testing adulteration
of cow milk with
Buffalo milk
c. Sediment Test III. Heat stability of milk
d. Hansa Test  IV. Determination of
shelf life of milk
= 1 5 T gl 1 @ Pram S
=1 o 10
o T Te L qu ¥ oigwa ol Bl
b Grardrse I TH % gy o femee
& ¥9 ¥ qU T Wd
T
c. BEE= W II. gg & Ho7 Rexar
d. F@1 & IV. gg @1 frem g
fraif@ e
Choose the correct answer from the options
given below :
g im0 faedl & ¥ 98 SUK &1 99T B
(A) a-l, b-IIl, c-II, d-1IV
(B) a-1V, b-ll, c-IIl, d-I
(C) a-ll, b-l, c-1V, d-lII
(D) a-lll, b-1V, c-I, d-II
(E) Question not attempted / aTyafa 997
\/ 77AGSP-2 . F e

92 Read the following statements regarding

camel managment,

statement I : Camel Milk has high
vitamin C content and also has
comparatively longer shelf-life.

Statement II : It is difficult to prepare curq

from camel milk.

Choose the most appropriate answer from |
the options given below : ;

(A) Both Statement I and Statement Il are |

correct.

(B) Both Statement I and Statement I are |

incorrect.
(C) Only Statement I is correct.
(D) Only Statement II is correct.
(E) Question not attempted
Fe weum @ ata A Ry g B B A

Foa [ : 52 % qu & weg A0 A R & &
%aﬂtwm%wﬁﬁuﬁmm
Bl F

o 11 : 2 % 39 ¥ T S S &
‘ﬁ%ﬁ?wﬁm‘fﬁf%’ﬁﬁm@ﬁaﬂiﬁ
TS B

(A) wuF | ok wu Il <A1 |& )

(B) o I ok s 11 AT 7o €l

(C) %aw wuT I 9 ¥

(D) &aa@ asem‘ I 9 )
(E) orguRa s

B



93

94

a1 & a1 g2 11 o7 e R -

T 1 (s1=) T 1T (wmm)

a. @H-BIN L sredvma qq™@
b. wrevETy HHYRT GHTE
c. e TE g9

d. g=qa IV fgg gum
‘ﬁ%ﬁﬁ"‘!ﬁﬁ‘ﬁﬁ‘@fﬁwzﬁrwm:
(A) &L, b-l, eIV, doyy
(B) a-IL, b-1V, c-I, d-11
(C) a-II, b-1, c-1V, d-11
(D) é-I, b-III, c-IV, d-I1

(B) ergaia wew

IL.
II1.

State Government of Rajasthan has signed

an agreement with which country to promote
“Tourism”?

(A) Singapore.

(B) Switzerland

(C) Japan

D) US.A.

(E)  Question not attempted

WW%W%&T%N&WH&M
% Y orerer fopar 2 7

®) Ry

() S—
© W

D) gug

®) st wom
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7 7TAGSP,

29

®)

@
®)
©
O

.“tgn‘mﬂ%’
(A TEE wex

The onion varieties grown in
categorized as

plain_s are
(A)
(B)
(@)
(D)
(E)

%ﬁa}a‘fﬁmmﬁmw%

(A) o7 gdraael g
SER TR I
aia?i?ﬁw_
Tb ot g
TN e

Short day type
Long day type
Intermediate type
Day neutral type

Question not attempted

YHR @y

©
(D)

(E)

Pusa Pragati is an important variety of

Garden pea
Mango
Citrus-
Bottle gourd

(E)

Question not altempted

@ TP U TER ¥

B sm

© @ | fig dw
(D) |
(E)  srgafa wew



97 In Rajasthan *The Center of Excellence of
Pomegranate’ is located at :
(A) Sirohi
(B) Churu
(C) Dhindhol (Bassi)
(D) Tonk
(E) Question not attempted
TR N R W W IR S S H
Rer ¥ 7
@A) R i:\
® O
€) = (w=h)
D) < e
(E) orgaia ued
98 Match List I with-List II
List I (Fort) “‘ List II (Built by)
a. Fort of Jalore;”’Q I.  Jaisal Bhati
b. Fort of SO_]at II. Vira Narayana
c. Siwana Durg; III. Nimba
d. Fort of Sonar = IV. Naga Bhatta
a1 & wy gt 1 &1 fraw sifg
@) T (e )
b. o @1 feer ) L A o
c. fgaFmgd 5 1L
d. €A @ ﬁr«n A L
Choose the correct-answer from the options
given below : '
g faw o fededi & @ @€ I A T AR
(A) a-lll, b-lI, sV, d-I
(B)  a-1V, b-I1, '¢-1, d-1
(©) a-IV, bell, g1, d-1
(D) a-1v, b-111, ‘eIl d-1
(E)  Question not attempted / argfyg 997
Y 77AGSP-2 b 30

99

100

N

According to US Soil taxonomy syster,

. . . N S()' ]
is classified into 1l

order,

W(US)WH#WW@%%

@A Wi i fea g,
(A) 8
B) 10
©) 12
(D) 14 G |
(E) Question not attcgl\pted / FatE g
o
o

Match List I with List?j:

List I (Freedom fighters)  List II (Places)
a. Kuman Kusum Gupta 1. Jodhpur
b. Laxmi Devi Aacha;%‘a II. Udaipur
c; Bhagwati Devi éﬁ III. Bikaner
d. Savitri Devi Bhatlg IV. Kota
g [ % @ g 0 & i%ﬁ EIIEN

TR 1 (e Ja) T 11 (=

a. P FgA T L Eﬁﬂs‘f
b. @&l ot o Y 1L IR
C. Wgdr I E:‘?\ 1. T
d. wifeh @ wid ?3 V. @i

Choose the correct anséfgr from the options
given below : |

b |
T R o e 4 et e 2 e A
(A) a-l, b-1V, I, d-I1I
(B)  a-ll, be1v, ¢, dfﬂ
(©) a-lv, b, c-l, dﬂ\l; 5
(D) a1V, be11, co11, 421 |

3 Q
(B)  Question not attémpted / g o

I~ d

B





